[image: image1.png]Problem 1: Consider a function f(¢) that is zero for ¢ < 0 and equals e~/ for ¢ > 0. Find
its Cosine and Sine Fourier Transforms A(w) and B(w). Make a nice plot of A(w) and B(w).
Pick a convenient value of 7.




[image: image2.png]Problem 2: Find the Cosine and Sine Fourier Transforms A(w) and B(w) for the sinusoidal
pulse f(t) given by

f(t) =sin(wot) for —to/2 <t <ty)2 (1)

a.nd j( ) = 0 outside this range. Make plots of B(w) for cases where
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[image: image3.png]Problem 3: Now suppose that a pulse of duration g as in Problem 2 contains two sine
waves, ie

fo(t) = sin(wot) + sin(wit) for —tg/2 <t < ty)2 (2)

and f(t) = 0 outside this range. Use the result from Problem 2 to write down (no more
evaluation of integrals needed) the Cosine and Sine Fourier Transforms A(w) and B(w) for
f2(t). You may find it very useful to make plots of this result when you start thinking about,
Problem 4.




